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QUESTION 1

What values flow from Sales and Distribution billing to costing-based Profitability Analysis? Note: There are 2 correct
answers to this question.

A. Cost of goods sold split by cost components

B. Value of "Gross Margin 2"

C. Production variances split by variance categories
D. Value of conditions of pricing procedure

Correct Answer: AD

QUESTION 2

You have implemented Product Cost by Sales Oder in conjunction with revenue-based results analysis in your
organization.

For a particular sales order item, you have the following:

Plan revenue = 3000; Plan costs = 2000

Actual revenue = 1200; Actual costs = 1000

What data does the system calculate during results analysis?
A. Revenue = 1200; Cost of sales = 800; Reserve = 200

B. Revenue = 1200; Cost of sales = 1000; Reserve = 200

C. Revenue = 1200; Cost of sales = 1000; WIP = 200

D. Revenue = 1200; Cost of sales = 800; WIP = 200

Correct Answer: D

QUESTION 3

At which level do you define the valuation method for results analysis?
A. Controlling area

B. Company code

C. Plant

D. Operating concern

Correct Answer: A
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QUESTION 4

What are the prerequisites for automatic generation of the settlement rule to a market segment for a sales order item?
Note: There are 2 correct answers to this question.

A. The sales order item is a cost object.

B. Profitability Analysis (CO-PA) is activated.

C. The material in the sales order item is a service.
D. The sales order item is assigned to a project.

Correct Answer: BD

QUESTION 5

You want enable WIP calculation in Product Cost by Period. What do you need to configure?
A. Settlement profile

B. Valuation variant

C. Profitability Analysis (PA) transfer structure

D. Variance variant

Correct Answer: B
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